Some suggestions to solutions
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Please note: 

· At first please check the exam paper: are there 6 pages / all pages well readable?

· Please only work in the exam paper; use the boxes for your answers. You do not need own paper. 

· Your calculations should be shown. The complete solution method must be traceable! 
· You can achieve 60 points – in 60 minutes! => one minute is approximately worth one point; please consider the indicated scores.  The tasks are formulated that way that usually short answers are required. Therefore do not spend too much time with "inferior" tasks!  

· Permitted are:  Pens, ruler, calculator (without word processing function), dictionary English-German / German-English. 
· Please do not use a pencil (except in diagrams) nor red pens

· Mobile Phones have to be switched off!
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1 Basic concepts
[12 points]
1.1 “Markets are usually a good way to organize economics activity”. Explain this statement and provide an example.
[4 pt]

  (  -> see Mankiw-text )
1.2 “Government can sometimes improve market outcomes”. In which situations should a government (in a market economy) intervene in markets?  
[4 pt]

  (  -> see Mankiw-text )

1.3 State at least two possibilities for a government in a market economy to intervene in markets. Provide real examples. 
[4 pt]

  (  -> see Mankiw-text )

2 Elasticity
[17 points]
2.1 Define the concept of elasticity a) explaining in your own words and 
b) providing (and briefly explaining) a formal definition 
[4 pt]

It’s important to define in relative terms
  (  -> see definition in book)

2.2 Fill the information about the elasticities ()
[6 pt]
	Concept
	Sign (normal case)
	Type of good (normal case)
	Name and example of the opposite case

	Price of demand
	< 0
	Normal good
	Luxury goods / “Snob” -> Rolex

	Income 
	> 0

	Superior
	Inferior / Giffen -> potatoes

	Cross  of demand
	= 0
	Neutral goods
	butter & bread

	Price of supply
	> 0
	Normal good
	Luxury goods / “Snob” -> Rolex


2.3 Two customers go to the counter at a supermarket to buy some cheese. Neither looks at the price. Customer A orders 1 kilo. Customer B orders £3 worth. What is the price elasticity of demand for cheese of each of the two customers? 
[4 pt]

The elasticity of demand for Customer A is zero. In other words, that person's demand for cheese is independent of price. If the price was different from the actual price, Customer A would still buy 1 kilo.


The elasticity of demand for Customer B is –1. In other words, if price were 10 per cent higher than the actual price, 10 per cent less cod would be bought in order to keep the amount spent constant (at £3).    – this argument is not exact  (in fact E is -0.9) 
2.4 Cheap Bundesbahn tickets (i.e. Niedersachsenticket) can not be used earlier than 9 a.m. Explain this strategy from viewpoint of elasticity. 
[3 pt]


Before 9 a.m. the demand is inelastic (commuters going to work), so the people are willing to pay higher prices. After 9 a.m. the Bundesbahn tries to attract less price elastic customers
	3 You observe the Bremen wholesale market on a Wednesday morning at 4 a.m. and measure the following figures: 
[24  points]
price (€)
	demand
	supply 

	0
	20,000
	2,000

	5
	10,000
	17,000

	10
	0
	32,000


3.1 Derive the demand- and the supply-function. 
[2 p.]
Qs = 2,000 + 3,000 p

Qd = 20,000 - 2,000 p

3.2 Compute the market equilibrium (p* and q*).
[2 p.]
equilibrium:       Qs = Qd
(  p* =  3.60            (Pe)

Apply to Qs or Qd 
( q* =  12,800           (Qe)

3.3 Draw these functions in a graph.  Show the market equilibrium.
(Make sure to choose the appropriate scale for both axes - and don’t forget to label them!) 
[4 p.]
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I can’t draw exactly in Excel. Please make sure that your graphs are better … ;-)

3.4 Assume the price would be fixed at 6 €. What would be the result? How do we call a situation like this? Provide a real world example!
[4 p]
Surplus (supply > demand )
-> explain !!!
3.5 Compare the welfare (measured in consumers and producers surplus) in equilibrium and in the situation of the fixed price. (Remember to draw exactly and also remember to correctly label the axes).
[4 Points]
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I can’t draw exactly in Excel. Please make sure that your graphs are better … ;-)

3.6 Compute the welfare for both cases numerically: calculate the respective consumers and producers surplus and also the welfare gain or loss. 
[5 Points]
[image: image4.emf]Equilibrium:

CS = 40960

  ( =((10-3,6)*12800)/2 )

PS= 26640

  ( =2000*3,6 + (10800*3,6)/2 )

Welfare =  67600 in equilibrium

Fixed Price: 

CS = 16000

  ( =(4*8000)/2 )

PS= 42000

  ( = 4 * 8000 + 2 * 2000 + (2*6000)/2 )

Welfare =  58000 with fixed price

Welfare eq. 67600

 - welf. fixed p 58000

Welf.Loss =  9600

Alternative (quicker) way to calculate the WL: 

Welfare losses   (easier to compute than first CS and esp. PS and than the difference

WL (CS) = 5760  ( = 2,4 * 4800 / 2)

WL (PS) = 3840  ( = 1,6 * 4800 / 2 )

Welf.Loss =  9600


3.7 Interpret the result in your own words.  
[3 Points]
-> explain !!!

4 A petrol station wants to increase revenue in order to obtain a bigger market share. They face fixed costs of 50,000 and variable costs of 0.50 per liter of petrol. Currently 200,000 liters are sold with a price of 1.20 Euro. Market research shows that the demand would be 210,000 with a price of 1.08 Euro and 190,000 liter with a price of 1.32 Euro.
[7 points]
4.1 What is the price elasticity of demand? Is demand elastic or inelastic? 
[4 points]

 = q/q / p/p = 10,000 / 200,000  / -0.12 /1. 2  =  1/20 / – 1/10   =   – 0,5      or 

 = q/q / p/p = - 5%  / 10 %  = - 0,5
=> inelastic


4.2 Do you recommend an increase or a decrease of prices? 
Explain why and show the opposite situation. 
[3 points]
Inelastic demand => increase price in order to maximize revenue

Good Luck !





Some suggestions to solutions


Attention – these are only some notes and suggestions, nothing to be learned by heart!! 


If you find any mistakes, please let me know
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